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2 1 160 Trim 19,200 !
5 ' ? ' ' 5600
1 22,600 b m 3,200
r I
12
| I |
mi : | |
If
f
2 2 2 ri
'V
o = 600800
50,000- 190,000 5-10
200,000-500,000  /
15-20 1,500,000-2 ,000,000
I 40-50
f ?
1
4 I 400-600 1

100-150 ,
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1
510
2
5.
51
700-745
40
2 4
.
3.2

(Boiler)

345

1

750

(60

vh

20-25

62



34

165

HI
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4 1,500,000- 2,000,000

: ( 500 70
2 2 '
| \Y
55 '
4 \Y )
)! )
mi ? ':'
5.6 I ?]
1 S gl « | | |t
B 1
?
(Boiler) ?

5.7 ?



4.1

4.2
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2, 3, 4
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Imrgj

191-199



(Average Cost Method)
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2523

2,000,000

?
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, 4, 12 ? V1 S
2523 ? A
3
4
4
QW
1
20 1
- [ o
1 i 24 ? ? 225000 »
2 5 9 ? 1 190,000
3 6 / 6 ? 1,248,000
4 5 */ 5 ?0 302,000
5 4 2 4 ? ? 57,500
? 2,006,500
1 2
19 */ 29 |/ ?
24 /

(9+ 20+ 2L+ 22+ 23 +24 +25 +26+27 +26+29 * 24)
1
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TOan

, 4,612,500

119,600
1,079,000
1,575,400

1,316,100

252,60

18,800

9,176,800

966,300
741,000

10,884,100

80,800

65,200
108,000

48,550
302,550

305,000
19,700

722,400
20,500
56,700
19)500
20,0 0
24,500

255,100

1,745,950
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? rni 2525

?
1 229,00
2 190,000
3 1,248,000
4 502,000
5 37,500
2,006,500

2«

«

&

72
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1 4,812,500
16, 554,000
1 1
= 4812 500
16,354,000
* 0.29427
1= X 1
= 5,456,000 X 0.29427
* 1,617,507.9
= 1,617,310
2 5 1



@

(2)

229,000

190,000

1,248,000

502,000

57,500

2,006,500

()

24

(2) = (5)

5,496,000

1,710,000

7,488,000

1,510,000

150,000

16,554,000

(4)

0.25427

0.29427

0*29427

0.254 27

0.29427

14

(2) X (5) X(4)

1,617,510

503,205

2,203,495

444,550

44,140

4,812,500



nm

1.00
0.08
0.10
0J0G

2.04

75

Uit
V2
1.80

0.08

1.92



1.92

2.04

1

1,316,100

= 3,879,960

1,318,100

3,879,960

0.33972

*

467,160X0.33972
158,703*60

158,704

77

16



(1)

()

(2)
229,000
190,000

1,248,000
302,000

37,500

2,006,500

2.04

1.92

1.92

1.2

1.92

(2) X (3)

467,160
364,800
2,396,160

579,840

12,000

3,879,960

A~
1
(4)
0.33972
0. 33972
0.33972
0. 33972

0. 33972

"

(2) x (3)
158,704

123, 930

814,023

1%, 563

24,460

1,318,100

*

¥ (4)
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78

2
3 L 119,600
4 o = 2,006,500
4. 11 = 229,000
1= X ? ?
?
1 119,600 X 229,000
2,006,500
= 13,649.82
= 13,650 /
7 11
1
2

80 84



Y

750

700

(0.7

79

10.19 /
6.63 /
5.74 /
5.45 /
5.16 /
700-745



1 229,000
1 Vi
? 1
1,617,310 —
13,650 -
125,240 —
158,704 -
11 7 9,220
28,850 =
= 7,440
: 12,325
2,145 =
- 5,540
1,943,879 34,525
11 34,810
— 2,250
110,285
84,570 —
- 82,445
- 2,340
- 6,470
: 2,225
- 2,280
- 2,795
— 29,115
2,138,734 199,255
1 “0.34+-0.85

10.19

7.06
0.06
0.54

0.69

0.15

0.01

8.49

0.48
0.57

9.34

80

0.04

0.05
0.05

0.02

0.14

0.15
0.01

0.56
0.01
0.05
0.01
0.01
0.01
0.12

0.85



:
2 (? 190,000 )
v v
*
/1 /1
505,205 - 2.65 -
11,525 - 0.06
102,250 - 0.54
168,400 - 0.89
125,950 - 0.65
N 7,650 : 0.04
25,920 - 0.15 -
6,175 - 0.05
& 10,225 - 0.05
.1,780 - 0.01 -
46,000 - 0.02
954,810 28,650 4.95 0.14
28,880 0.15
1,865 - 0.01
91,500 - 0.48 -
70,165 - 0.57 -
68,405 - 0.56
1,940 - 0.01
— 5,570 - 0.05
- 1,845 - 0.01
1,895 - 0.01
2,520 — 0.01
- 24,155 - 0.12
1,096,475 165,525 5.78 0.85

1 » 576 + 0.85

» 6.65



yij

ly !

as

mimi  Tuan

11

1

3(°? « 1,246,000
1. —.r
!
/1
2,203,495 - 1.76
74,590 — 0.06
671,610 - 0.54
1,106,100 — 0.89
814,023 — 0.65
N 50,255 -
157,110 — 0.15
C 40,550 -
5 67,175 -
11,695 — 0.01
- 50,195 —
5,030,425 188,175 0.04
— 189,705 —
N 12,250
601,020 — 0.48
460,885 - 0.37
- 449,520 —
- 12,750 —
- 55,265 —
- 12,130 -
- 12,440 -
- 15,235 —
* 158,665 -
Il
6,100,328 1,085,955 4.89
o I
o 489 f 0.65

«

5.74

82

0.04

0.03
0.05

0.02

0.14

0.15
0.01

0.36
0.01
0.03
0.01
0.01
0.01
0.12

0.85



83

10
4 ( 302,000 )
1
/1 /1
444,350 — 1.47 —
18,000 — 0.06 -
162,520 - 0.54 —
267,660 - 0.89 —
196,983 — 0.65 -
- 12,160 - 0.04
38,020 — 0.13 —
9,815 - 0.03
- 16,255 — 0.05
2,830 - 0.01 -
s 7,305 - 0.02
1,130,363 45,535 3.75 0.14
- 45,905 - 0.15
- 2,965 - 0.01
145,435 — 0.48 —
111,530 - 0.37 —
- 108,730 - 0.36
- 3,005 - 0.01
— 8,535 — 0.03
- 2,935 — 0.01
- 3,010 - 0.01
— 3,690 - 0.01
— 38,395 — 0.12
1,387,328 262,785 4.60 0.85

» aeo0 f 0.85
= 545
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D253

5 (7

44,140

2,235
20,180
33,240

24,460

4,720

350

129,325

18,060
13,850

161,235

* 431 f 0.85
» 5.16

T

1,515

1,220
2,020

910

5,665

5,700
370

13,500
385
1,060
365
375
460
4,770

32,650

37,500 a !)

/1

1.10
0.06

0.54
0.89

0.65

0.13

0.01

3.46

0.48
0.37

4.31

/

0.04

0.03
0.05

0.02

0.14

0.15
0.01

0.36
0.01
0.03
0.01
0.01
0.01
0.12

0.85



1 = 10.19X 0.7
= 7.13 /
2 = 6.63 X 0.7
= 464 |
5 = 574 Ko.7
_ 4.02 /
4 ! = 5.45 X 0.7
_ 3.81 /)
5 - 516 X 0.7
- 3.61 /
? TH
u 1 7.06 !
L ow ., 069 /! I 054 |
ri
1 1 =1
7 60 /
= 9*54 / = 085
G 0.7 1) =9.54X0.7

=6.558
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Vv Vv
1 - y
12-6.538 M
5.462
1
I «
7 1= 199,255
s /
199,255/5.462
36,480.227
1
36,481
v, . v
36,481
2 2 1 = 7.00
8 8L 1 =5.78X0.7
= 4.046
1 = 7-4.046
= 2954
8 = 1 5325
= 165,325/2.954

= 55,966.486
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m 2
55,967
3. 3 1 = 6.-
9 & 1 =4»89X °*7
= 3.423
6 - 3.423
2577
9 3 1,085,935
V
1,085,935/2.577
421 ,395.03
3
421,396
4 4 1 5
10 3 1 ' =4.60X0.7
1 3.22
1 =5- 322
=1.78
f " 10 4 =262,785
=262,785/1.78

=147,632.02



147,633

33,215

a ~ W N R

1

-4.51X0.7
3.017
4 - 3.017
0.983

32,650
32,650/0.983
33,214.649

5

*54621 /
*2.9%4
*2577 |
=178 /
- 0.983 /

88
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?

89
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(Return on Assets) )
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yiffi
2 2
| I
2 *
? - .
44.420,45"
12,UGo,co0
575,150
4

. 252 , &b

U112

(Earning per share)

2 A {

, 1 ?

?
10,0uo

6,84 ,00

591','500

591,500

3 00

»

o1
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2.
N\
CJIN X100
12,Goo,u00
= 313
3. I ; + ?2® (1-m
+
375,150+0
X 100
6,840,000+ 12,00 ,000
= 199 %
4 [TW
, 1
= _312.63 /
1,200
« « 3.12
A 2,000 : 1,000
2,741,720 -
2,000,000 : 146,050

I 116,600
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_JiEiE50__ x 100

2,741,720
5,36 %

116,600

2,00 ,00

X 100

=5.63 %

11 f
220012 % 1m0

2,000,00U

=583 %

- HOSH g3

2,000

>.5.83

1.33% 5.36*

3.13% 5.63%

1.99% 5.83%
'3.12: 5.83
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